General Physics-1, Quiz 1

Department of Physics PHYS1000AA, AB, AC
National Dong Hwa University, 1, Sec. 2, Fall-Semester-109
Da Hsueh Rd., Shou-Feng, Hualien, 97401, Taiwan 2020-10-13
St. ID: , Name:
Chapter 7

1. Inan electron microscope, there is an electron gun that contains two charged metallic
plates 2.80 cm apart. An electric force accelerates each electron in the beam from rest to
9.60% of the speed of light over this distance a) Determine the kinetic energy of the
electron as it leaves the electron gun. Electrons carry this energy to a phosphorescent
viewing screen where the microscope’s image is formed, making it glow. For an electron
passing between the plates in the electron gun, determine (b) the magnitude of the
constant electric force acting on the electron, (c) the acceleration of the electron, and (d)

the time interval the electron spends between the plates.
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